Orden de Operaciones (E)

Realice las operaciones en el orden correcto.

. (39,16 —25,3) - 63 +82,44—-55,5+93,13-5,3

[

N

(27,85 +18,68) x 25— (90,51 + 36,63 — 34,07 + 60, 28)

W

. (48,35—0,98 — (33,52 — 13,2)) x 90,2 + 73,36+ 51,8

443,31 4+1,1842,37+11,79+ 4,74 — 6,09 + 5,48

. 39,85+55,14 — (59,76 + 41,82 — (92,57 — 12,57)) + 62,55
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Orden de Operaciones (E) Answers

Realice las operaciones en el orden correcto.

1. (39,16 —25,3) ~ 63 +82,44 —55,5+93,13—5,3
~ 114,99

2. (27,85 +18,68) x 25 — (90,51 + 36,63 — 34,07 + 60,28)
= 1.009,9

W

- (48,35 —0,98 — (33,52 —13,2)) x 90,2+ 73,36+ 51,8
—2.565,07

4. 43,314+1,18+2,37+ 11,79 +4,74 — 6,09 + 5,48
= 62,78

91

. 39,85+55,14 — (59,76 + 41,82 — (92,57 — 12,57)) + 62,55
= 135,96
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